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General Instructions :
Please read the following instructions carefully and follow them :
(1) The question paper contains 10 questions.

(it)  All questions are compulsory.

(iti)  This question paper is divided into Five Sections — A, B, C, D and E.

(iv)  Section A - Question numbers 1 to 3 are very Short answer type

questions carrying 2 marks each.

(v) Section B - Question number 4 is Source Based question carrying

3 marks.

(vt)  Section C - Question numbers § and 6 are Short answer type questions

carrying 3 marks each.

(vit) Section D - Question numbers 7 to 9 are Long answer type questions

carrying 5 marks each.

(viit) Section E - Question number 10 is map based question carry § marks.

(ix)  There is no overall choice in the question paper. However, an internal

choice has been provided in some questions. Only one of the choices in

such questions have to be attempted.

SECTION - A
(Very Short Answer Questions)

Q. Nos. 1 to 3.

Attempt all questions. 3x2=6
1. Why is ‘technological innovation’ essential for industries ? Explain. 2
2. “Transport is an organised industry created to satisfy man’s basic need of

mobility.” Support the statement. 2
3. (a) Mention any four features of non-metallic minerals in India. YVax 4=2

OR

(b) Mention any four features of ‘Geothermal energy’ in India. YVax4=2
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SECTION - B
(Source Based Question)

4. Read the following source and answer the given questions : 1x3=3

The process of development of tribal area of Bharmaur started in
1970s when Gaddis were included among ‘scheduled tribes’. Under the
Fifth Five Year Plan, the tribal sub-plan was introduced in 1974 and
Bharmaur was designated as one of the five Integrated Tribal
Development Projects (ITDP) in Himachal Pradesh. This area development
plan was aimed at improving the quality of life of the Gaddis and
narrowing the gap in the level of development between Bharmaur and
other areas of Himachal Pradesh. This plan laid the highest priority on
development of transport and communications, agriculture and allied

activities, and social and community services.

The most significant contribution of tribal development sub-plan in
Bharmaur region is the development of infrastructure in terms of schools,
healthcare facilities, potable water, roads, communications and electricity.
But the villages located along the river Ravi in Holi and Khani areas are
the main beneficiaries of infrastructural development. The remote villages

in Tundah and Kugti areas still do not have sufficient infrastructure.

4.1 Why is it necessary to develop infrastructural facilities for integrated

development of a region ? Explain.

4.2 Mention the main objective of ‘integrated tribal development project’

in Bharmaur region.

4.3 Explain the outcome of tribal development sub-plan in this region.
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SECTION - C

(Short Answer Questions)

Q. Nos. 5 & 6. 3x2=6
5. “The quaternary sector along with the tertiary sector has replaced most of
the primary and secondary employment.” Support the statement. 3x1=3

6. (a) How are large scale industries different from cottage industries ?

Explain. 3x1=3
OR

(b) How are small scale industries different from household industries ?

Explain. 3x1=3

SECTION -D
(Long Answer Questions)
Q. Nos. 7 to 9. 5x3=15

7. Examine any five factors which are responsible for population flow from

rural to urban areas in India. bx1=5

8. “Pipelines are the most convenient and efficient mode of transporting

liquids and gases over long distances in India.” Examine the statement. 5x1=5

9. (a) “Road transport is the most economical for short distances compared

to railways in the world.” Support the statement. 5x1=5
OR

(b) Explain the importance of waterways as a mode of transportation. 5x1=5
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I faret grT sifha iy 3t 3% T fafa ; Ix5=5

10.1 TR — S @

10.2 ST — HHTS 6 @

10.3 @dgl — arel i @

10.4 SR — T MG HREHT

10.5  IT-Crequl T 1 AT w29

10.6 ‘@i =g’ & 1 T8 T TgR

e ;. FrafRad ye Fae gheefim wdienferat 3 fore wom v 10 % WA W E | e
gty w1 3 ferfie | 1x5=5
10.1 38 T o1 7 forfaw et Tt et sl @ ferd |

10.2 38 UsT o1 9 fofau et aretrene #rie 6 @ e g |

10.3  WHleeh T2a foreh T wiig 319 1 @HI & T &1 419 fafe |

10.4 38 UST 1 0 fARaT ST&T 91 dct oA @1 ¢ |

10.5  3IT-GfRI0T TR o FeE fegu <h RN 1 A1 fAfeT |

10.6  “wffy =qds’ | I Ted g merR 1 AW fofE |
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SECTION - E
(MAP)

10. On the given political outline map of India, locate and label any five from

the following Geographical features with appropriate symbols : 1x5=5
10.1 Raniganj — Coal mines

10.2 Balaghat — Manganese mines

10.3 Khetri — Copper mines

10.4 Jamnagar — Oil refineries.

10.5 The southern-most station of North-South Corridor.

10.6  The eastern-most metropolitan city connected by golden quadrilateral.

Note: The following questions are for the Visually Impaired

Candidates only, in lieu of Qn. 10. Attempt any five. 1x5=5
10.1 Name the state where Raniganj coal mines are located.

10.2 Name the state where Balaghat Manganese mines are located in

Karnataka.
10.3 Name any place of iron ore mines in Karnataka.
10.4 Name the state where Mathura refinery is located.
10.5 Name the southernmost station of North-South Corridor.

10.6 Name the eastern-most metropolitan city connected by ‘golden

quadrilateral’.
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